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Part — II1
COMPUTER APPLICATION
(COMMERCE)

Maximum : 60 Scores

fGeneral Instructions to Candidates : \

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering. ;

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

-

035080l BINBS Ha100MIBCF006BI3 :
e  1dGlay MAREIM a0en 15 alaflg’ ‘@) Boad 6Se’ BT ..

® ‘9)B @0a0 0950 CaldBIPBA al@lalWeR|SOM)o DOMOBBUT  @RHYALY®6EMo
£a1QOM]o DaICWIUII D).

®  DTMOIBURB af)$)EIANGIM AN E2108§EBW ¥YBRLIANBYo AIWEHEMo.
®  MBcguoamud @aIMe UBRLIANBgIe ANWeaEMo.

® BN D)GENDUD, afl@enud, Lmomgoa,a‘z}, og)crrﬂcu: gmmem«acﬂmﬂ @M
9aMe@l8o6Mo. i ; :

® G BIEBR aeIVOgTTIel) MEflulgre.
®  @RAINDINBE TLOLICTY TLAMIDIFIBUD OBHIS)BNEMo.

® CLIWONGRB = OalGOMISITM  BHITWHNCLIQNHNID  8YOSWSB B0}
LIBESOEMId DaldOaMAalpe 1@l 8::1020061@3 DaICIUTE9)AI0M aldsSIe).

SY 46 1 P.T.O.




8]

PART - A
Answer all questions from 1 to 5. Each carries 1 score.

The input operator in C++is .

character is stored at the end of the string.

The process of breaking large program into smaller sub-programs

Name the keyword used to declare variable in JavaScript.

Expand MIS.

PART -B

Answer any 9 questions from 6 to 16. Each carries 2 scores.

List the type moditfiers in C++.

Rewrite the following code using for loop
intx=1;

start :
cout << Xx;
x=Xt35;

if (x <=50)

goto start;

(i) Define an Array.

(i) Initialize an integer array with 5 elements.
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6. C++ 68l 09Se] EBOAIaNWOIBSIOS Gal® nf)P)®)d:.

7. ahQIes OISOl Gnlddo adaslam for Loop 9a16oWa] B3og) a9 ;M)
mtx=1;
start :
cout << x;
X=X+35;
if (x <= 350)

goto start;
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Write the port number for the following web services :
(1)  Simple Mail Transfer Protocol

(i) HTTP secure (HTTPS)

What is the use of frame tag in HTML ? What is its limitation ?

Write the HTML code to display the following using list tag :
(i) Biology Science
(i) Commerce

(iii) Humanities
What is the difference between isNaN( ) and Number( ) functions in JavaScript ?

What is CMS ? Give two examples. ’

First table containing 4 rows and 3 columns, second table contains 5 rows and
2 columns, then the Cartesian product table contains rows and

columns, .

How Business Process Re-Engineering (BPR) is related to Enterprise Resource
Planning (ERP) ? et

Define the terms :
(1)  Cyber Forensics

(i) Infomania
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(1)  Simple Mail Transfer Protocol

(i) HTTP secure (HTTPS)

HTML-eei ‘Frame’ SOUTlO aICOU ag)amy? ARG a2 oilaud af) 9102}

a)QIes @ariaelesyan elqy ameoseanmes HTML GO af) 9)ONh :
(1)  Biology Science
(1) Commerce

(iii) Humanities

JavaScript-své_l isNaN( ) 90 Number( ) aloWaHM)o @2lenss alymoavo )P ®)>.
CMS ag)amomB ag)am ? @sne’90a006m. )} D).
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(1)  Cyber Forensics

(i) Infomania
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PART-C
Answer any 9 questions from 17 to 27. Each carries 3 scores. : 9x3=27)

17.  Compare the selection statements “if”* and *“switch’.

18.  Write a program in C++ to accept a string with white space like “good morning” from

the keyboard and display the same string.

19. Compare static webpage and dynamic webpage.

20. (1)  Whatis the use of reserved characters for HTML entities ? (1)

(i)  List any four reserved characters and its use. (2)

21.  Write the built in JavaScript functions used for the following situation :
(i) Display warning message in the screen.
(i) Character at a particular position.

(iii) Convert uppercase to lowercase.

22.  Write the merits and demerits of free webhosting.

23. What is key ? Explain any two keys in a relational database management system.

24.  Define the term Data independence. Explain different levels of data independence.
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25.  Explain any three situations to modify the structure of a table with the help of alter

26.  Explain the merits of ERP system.
27.  Compare GPRS and EDGE.
PART-D
Answer any 2 questions from 28 to 30. Each carries 5 scores,
28.  Identify the built in C++ function for the following cases :
(i) to convert —25 to 25,
(i)  compare ‘computer’ and ‘COMPUTER’ ignoring cases.
(iii) to check the given character is digit or not.
(iv)  to convert the character to ‘B’ to ‘b’.
(v) to find the square root of 64 or a number.
29. () Write the name of tag used to group related data in an HTML form.
(i)  Write the HTML code to display the following webpage :
e
Username ‘[
Password L l
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(i)
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29. @
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®00% 2@l HAafidlanm eani cals’ Byvoyaosmainamsss HTML code

A O)ND : @
Username ’ 4’
Password [ : ‘
’ Submit ’ i Reset ‘
] =
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30. Consider the table student with attribute admno, Name, course, percentage. Write the

SQL statements to do the following :

() Display all the student details. §))

(1)  Modify the course ‘Commerce’ to “Science’. a

(iii) Remove the student details with percentage below 35. @

- (v) Create a view from the above table with percentage greater than 90. 2)
s by L
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30. - admno, Name, course, percentage @Senil@ ¢08a30d a8 student table aidlwerilaj

@069 |0MaIR)Ss SQL cqRaaadgay ag e :
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(i) ‘Commerce’ ag)am eao¥milom ‘Science’ @R)YAEN DB ¢))
(iii) 35 ODOMTTM @INYLBH 3)SlSHBOS aflaieandd aflese HaiQ))d. 0))
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